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Q. 1       Electron-volt is a unit of 

इलेक्ट्रॉन-वोल्ट की एक इकाई ह।ै

S.S.C. ऑनलाइन CGL (T-I) 13 अगस्त, 2021 (I-पाली)

(a) Potential difference / ववभवाांतर

(b) Current/ववद्यतु धारा 

(c) Power / शवि

(d) Energy/ऊर्ाा



• इलेक्ट्रॉन-वोल्ट (eV), सामान्यतया परमाणु और नावभकीय

भौवतकी में उपयोग की र्ाने वाली ऊर्ाा इकाई ह।ै एक

इलेक्ट्रॉन वोल्ट वकसी इलेक्ट्रॉन या इकाई आवशे वाले

आववेशत कण में उपवस्ित ऊर्ाा के तलु्य होता ह।ै

1 इलेक्ट्रॉन वोल्ट (1 eV) = 1.602 × 10-19 र्लू

• The electron-volt (eV) is a unit of energy 

commonly used in atomic and nuclear physics. 

One electron volt is equal to the energy present 

in an electron or a charged particle with unit 

charge.

1 electron volt (1 eV) = 1.602 × 10-19 joules



Q. 2       The mass of an object is a ______.

एक वस्त ुका द्रव्यमान एक______ ह।ै

S.S.C. ऑनलाइन C.P.O.S.I. (T-I) 1 र्लुाई, 2017 (II-पाली)

(a) भौवतक मात्रा/Physical quantity

(b) मौवलक मात्रा/Fundamental Quantity

(c) अविश मात्रा/Scalar quantity

(d) सभी ववकल्प सही हैं।/ All the options 

are correct.



• मौवलक मात्रा अिवा मलू रावशयाां वह ह,ै वर्न्हें अन्य रावशयों

के िो पिों में पररभावित नहीं वकया र्ा सकता ह,ै र्सैे- लांबाई,

द्रव्यमान एवां समय। द्रव्यमान एक भौवतक रावश ह,ै क्ट्योंवक

भौवतकी के वनयमों के द्वारा इसे पि में व्यि वकया र्ा सकता ह।ै

द्रव्यमान एक अविश रावश ह,ै क्ट्योंवक इसमें केवल पररमाण

होता ह।ै

• Fundamental quantities or basic quantities are

those, which cannot be defined in two terms of

other quantities, such as length, mass and time.

Mass is a physical quantity because it can be

expressed in terms by the laws of physics. Mass is

a scalar quantity because it has only magnitude.



Q. 3       What is the unit of relative density? 

आपेविक घनत्व की इकाई क्ट्या ह?ै

S.S.C. ऑनलाइन CHSL (T-I) 15 र्नवरी, 2017 ( III - पाली)

(a) Kg/m./   वकग्रा./मी. 

(b) Kg/m2 / वकग्रा./वगा मी.

(c) Kg/m /    वकग्रा./घन मी.

(d) It has no unit/इसकी कोई इकाई नहीं होती



• 20°C पर वकसी वस्तु के घनत्व एवां 4°C पर र्ल के घनत्व

के अनपुात को वस्तु का आपेविक घनत्व कहते हैं।

• आपेविक घनत्व = 20°C पर वस्त ुका घनत्व/

4°C पर र्ल का घनत्व

• The ratio of the density of an object at 20°C to 

the density of water at 4°C is called relative 

density of the object.

• Relative density = Density of the object at 20°C/

Density of water at 4°C



Q.4 Sour taste of lemon is due to the presence of which of the following?

नींब ूका खट्टा स्वाि वकसकी मौर्िूगी के कारण होता ह?ै 

S.S.C. ऑनलाइन स्नातक स्तरीय (T-I) 8 वसतांबर, 2016 (II- पाली)

(a) Citric acid / साइवरक एवसड

(b) Acetic acid/ एसीवटक एवसड

(c) Oxalic acid / ऑक्ट्सोवलक एवसड 

(d) Formic acid/ फॉवमाक एवसड



• नींबू का खट्टा स्वाि, इसके रस में साइवरक अम्ल की

उपवस्िवत के कारण होता ह।ै साइवरक अम्ल अन्य

फलों र्सैे सांतरा और अांगरू में भी पाया र्ाता ह,ै

लेवकन नींबू में इसकी मात्रा अवधक होती ह।ै

• The sour taste of lemon is due to the

presence of citric acid in its juice. cause

happens. Citric acid is also found in other

fruits such as oranges and grapefruits, but

lemons contain higher amounts.



Q.5 Which of the following proteins is found in nails?

वनम्नवलवखत में से कौन-सा प्रोटीन नाखनूों में पाया र्ाता ह?ै

S.S.C. ऑनलाइन C.P.O.S.I. (T-I) 5 र्लुाई, 2017 (II- पाली)

(a) Histone/ वहस्टोन

(b) Keratin/ केरावटन

(c) Elastin/ इलावस्टन

(d) Actin/ एवक्ट्टन

केरावटन (Keratin) एक रेशिेार प्रोटीन ह।ै यह

प्रोटीन बाल, नाखनूों, सींगों, ऊन इत्यावि में पाए

र्ाते हैं।

Keratin is a fibrous protein. These

proteins are found in hair, nails, horns,

wool, etc.



Q.6 What is the main component of human bone? 

मानव हड्डी का मखु्य घटक क्ट्या ह?ै

S.S.C. ऑनलाइन स्टेनोग्राफर, 14 वसतांबर, 2017 (I-पाली)

(a) Phosphorus/ फॉस्फोरस

(b) Calcium/कैवल्शयम 

(c) Zinc/र्स्ता

(d) Iron/लोहा



• मानव हड्डी का मखु्य घटक (Main Component)

कैवल्शयम ह,ै र्ो हड्वडयों की सांरचना तिा मर्बतूी प्रिान

करने में सहायक खवनर् है । कैवल्शयम फॉस्फेट नामक

लवण मानव हड्वडयों में सवाावधक मात्रा में पाया र्ाता ह।ै

• The main component of human bone is

calcium, which is a mineral helpful in

providing structure and strength of bones. A

salt called calcium phosphate is found in the

highest amount in human bones.



Q.7 Highest percentage of carbon is found in which form of coal?

कोयले के वकस रूप में अवधकतम प्रवतशत काबान पाया र्ाता ह?ै 

(a) Anthracite/एांथ्रासाइट 

(b) Bituminous / वबटुवमनस 

(c) Peat / पीट 

(d) Lignite / वलग्नाइट



• एांथ्रासाइट कोयले का सबसे कठोर, चमकीला और

सवोत्तम रूप है । इसमें 90-95% तक काबान की मात्रा

होती है । वबटुवमनस में 55-80%, वलग्नाइट में 40-55%

तिा पीट कोयले में 40% से कम काबान पाया र्ाता है ।

• Anthracite is the hardest, brightest and best

form of coal. It has a carbon content of 90-

95%. 55-80% carbon is found in bituminous,

40-55% in lignite and less than 40% in peat

coal.



Q. 8 Both hemoglobin and myoglobin are required for the formation of _____.

हीमोग्लोवबन और मायोग्लोववन िोनों_____  के वनमााण के वलए आवश्यक होते हैं। 

SS.C. ऑनलाइन स्नातक स्तरीय (T-1 ) 12 र्नू, 2019 (III- पाली)

(a) Vitamin B12/ ववटावमन B12 

(b) Vitamin A / ववटावमन A

(c) Iron / आयरन

(d) Calcium / कैवल्शयम



• Iron is an essential element for the

formation of both hemoglobin and

myoglobin. The function of hemoglobin

is to transport oxygen in the blood,

whereas the function of myoglobin is to

store oxygen.

• लोहा (Iron) हीमोग्लोवबन और मायोग्लोवबन िोनों

के वनमााण हतेु एक आवश्यक तत्व ह।ै हीमोग्लोवबन

का काया रि में ऑक्ट्सीर्न का पररवहन

(Transportation) ह,ै र्बवक मायोग्लोवबन का

काया ऑक्ट्सीर्न को सांगवृहत करना ह।ै



Q.9 The deficiency of Niacin - a vitamin of the B complex group causes the  

disease_____. 

वनयासीन-र्ो ववटावमन बी-कॉम््लेक्ट्स ग्रपु का एक ववटावमन ह,ै की कमी से कौन-सा रोग होता ह?ै

SS.C. ऑनलाइन स्नातक स्तरीय (T-I) 7 वसतांबर, 2016 (II-पाली)

(a) Marasmus/मरैासमस

(b) Pellagra/पेलाग्रा 

(c) Rickets/ररकेट्स

(d) Nightblindness/रतौंधी



• Niacin is also called vitamin B3. Its

deficiency causes a disease called pellagra.

In this disease, there is a disturbance in the

metabolism of proteins in the body.

• वनयासीन को ववटावमन B3 भी कहा र्ाता ह।ै इसकी

कमी से पेलाग्रा नामक बीमारी हो र्ाती ह।ै इस बीमारी

में शरीर के प्रोटीन के उपापचय (Metabolism) में

गड़बड़ी हो र्ाती ह।ै



Q.10 Speed of light will be maximum in which of the following mediums?

वनम्नवलवखत में से वकस माध्यम में प्रकाश की गवत अवधकतम होगी?

a) Water/पानी

b) Kerosene/वमटटी तेल

c) Vaccum/वनवाात

d) Diamond/हीरा



Q.11 Which of the following is the largest gland in human body?

वनम्नवलवखत में से कौन मानव शरीर की सबसे बड़ी ग्रांवि ह?ै

a) Thyroid/िाइराइड

b) Kidney/गिुाा

c) Liver/यकृत

d) Pancreas/अग्न्याशय



• Liver is both the heaviest internal

organ and the largest gland in the

human body. Located in the right upper

quadrant of the abdominal cavity, it

rests just below the diaphragm, to the

right of the stomach and overlies the

gallbladder.

• लीवर सबसे भारी आांतररक अांग और मानव

शरीर की सबसे बड़ी ग्रांवि िोनों ह।ै उिर गहुा के

िावहने ऊपरी चतिुाांश में वस्ित, यह डायाफ्राम के

ठीक नीचे, पेट के िाई ां ओर वस्ित होता है और

वपत्ताशय की िैली के ऊपर होता ह।ै



Q.12 Which of the following give maximum energy after breaking down?

वनम्नवलवखत में से कौन टूटने के बाि अवधकतम ऊर्ाा ितेा ह?ै

a) Fat/वसा

b) Protein/प्रोटीन

c) Carbohydrate/काबोहाइडे्रट

d) None of the above/उपरोि में से

कोई नहीं



• Fat gives maximum energy after breaking 

down, fat is composed of essential carbon 

and hydrogen atoms releasing 9.1 calories 

per gram of energy.

• वसा टूटने के बाि अवधकतम ऊर्ाा ितेा ह,ै वसा 

आवश्यक काबान और हाइड्रोर्न परमाणओु ां से बना 

होता ह ैर्ो 9.1 कैलोरी प्रवत ग्राम ऊर्ाा र्ारी करता 

ह।ै



Q.13 ‘Saffron’ is obtained from which among the following parts of the plant?

‘केसर’ पौधे के वनम्नवलवखत में से वकस भाग से प्राप्त होता ह?ै

a) Stigma/ववताकाग्र

b) Anther/पराग-कोश

c) Stamen/पषु्प-केसर

d) Pollen/पराग



• केसर एक मसाला है र्ो क्रोकस सैवटवस के फूल से प्राप्त

होता ह,ै वर्से आमतौर पर "केसर क्रोकस" के रूप में र्ाना

र्ाता ह।ै यह मखु्य रूप से ठांडे िेत्रों में उगाया र्ाता ह।ै

‘केसर’ पौधे के ववताकाग्र से प्राप्त होता ह।ै

• Saffron is a spice derived from the flower of

Crocus sativus, commonly known as the

“saffron crocus”. It is mainly grown in cold

regions. Saffron’ is obtained from the stigma of

the plant.





Q.14 Which of the following plants have respiratory roots?

वनम्नवलवखत में से वकस पौधे में श्वसन र्ड़ें होती हैं?

a) Marshy Plants/िलिली पौधे

b) Mangroves/कच्छ वनस्पवत

c) Epiphytes/एवपफाइट्स

d) Submerged Hydrophytes/र्लमग्न

हाइड्रोफाइट्स



• Respiratory roots are found in aquatic plants

and plants which grow on marshy areas. In

mangroves the roots are not getting sufficient

oxygen and hence they grow upwards from

the ground.

• श्वसन र्ड़ें र्लीय पौधों और पौधों में पाई र्ाती हैं र्ो

िलिली िेत्रों में उगते हैं। मैंग्रोव में र्ड़ों को पयााप्त

ऑक्ट्सीर्न नहीं वमल पाती है और इसवलए वे र्मीन से

ऊपर की ओर बढ़ते हैं ।





Q.15 Which of the following part of eyes controls the size of the pupil? 

आखँों का वनम्नवलवखत में से कौन सा भाग पतुली के आकार को वनयांवत्रत करता ह?ै

a) Retina/रेवटना

b) Iris/ पररताररका

c) Cornea/कॉवनाया

d) None of the above/इनम ेसे कोई भी नहीं



• पतुली का आकार पररताररका द्वारा

वनयांवत्रत होता ह।ै पररताररका आांख

में प्रवशे करने वाले प्रकाश की मात्रा

को वनयांवत्रत करती ह।ै

• The size of the pupil is

controlled by the iris. The

iris controls the amount of

light entering into the eye.



Q.16 Which metal is used in the Galvanization process?

गलै्वनाइर्शेन प्रवक्रया में वकस धात ुका उपयोग वकया र्ाता ह?ै

a) Tin/वटन

b) Lead/सीसा

c) Zinc/र्स्ता

d) Copper/ताँबा



• र्स्ता का उपयोग गैल्वनीकरण प्रवक्रया में वकया र्ाता ह।ै

गलै्वनाइर्शेन र्ांग को रोकने के वलए स्टील या लोहे पर

एक सरुिात्मक र्स्ता कोवटांग लगाने की प्रवक्रया ह।ै

• Zinc is used in galvanisation process.

Galvanization is the process of applying a

protective zinc coating to steel or iron, to

prevent rusting.



Q.17 Which of the following pairs represent two scalar quantities?

वनम्नवलवखत में से कौन-सा यगु्म िो अविश रावशयों का प्रवतवनवधत्व करता ह?ै

a) Mass, Acceleration/द्रव्यमान, त्वरण

b) Temperature, Torque/ तापमान, आघणूा

c) Distance, Speed/िरूी, गवत

d) Gravitational Intensity, Work/गरुुत्वीय 

तीव्रता, काया



• वे भौवतक रावशयाँ वर्नमें केवल पररमाण होता है

और कोई विशा नहीं होती, अविश रावशयाँ

कहलाती हैं । अविश रावशयों के कुछ उिाहरण:

काया, द्रव्यमान, तापमान, िरूी, गवत ।

• The physical quantities which have only

magnitude and no direction are called

Scalar quantities. Some examples of

Scalar quantities: Work, Mass,

Temperature, Distance, and Speed.



Q.18 Which among the following gas was leaked at Bhopal during the  Bhopal 

gas tragedy on 2-3 December 1984? 

वनम्नवलवखत में से कौन सी गसै भोपाल में 2-3 विसांबर 1984 को भोपाल गसै त्रासिी 

के िौरान लीक हुई िी?

a) Methyl isocyanide/वमिाइल आइसोसाइनाइड

b) Methyl isocyanate/वमिाइल आइसोसाइनटे

c) Methyl isochloride/वमिाइल आइसोक्ट्लोराइड

d) Methyl isochlorate/वमिाइल आइसोक्ट्लोरेट



• 2-3 विसांबर, 1984 की रात को भोपाल में यवूनयन

काबााइड के सहायक कीटनाशक सांयांत्र ने लगभग 40 टन

र्हरीली वमिाइल आइसोसाइनेट (एमआईसी) गसै छोड़ी।

500000 से अवधक लोग गसै के सांपका में आए और

4000 से अवधक लोग मारे गए।

• On the night of 2-3 December, 1984, the

Union Carbide subsidiary pesticide plant in

Bhopal released around 40 tonnes of toxic

methyl isocyanate (MIC) gas. More than

500000 people got exposed to the gas and

more than 4000 died.



Q.19  Which of the following metals are the constituents of German  silver?      

वनम्नवलवखत में से कौन सी धात ुर्मान वसल्वर के घटक हैं?

a) Nickel/वनकल

b) Copper/ताँबा

c) Zinc/र्स्ता

d) All of the above/उपयुाि सभी



• र्मान वसल्वर कॉपर, वर्ांक और वनकेल की वमश्रधातु

ह।ै सामान्य सतू्रीकरण 60% ताांबा, 20% वनकल और

20% र्स्ता ह।ै चाांिी र्सैा विखने के कारण इसे र्मान

वसल्वर कहा र्ाता ह,ै लेवकन इसमें चाांिी नहीं होती ह।ै

• German Silver is an alloy of copper, zinc

and nickel. The usual formulation is 60%

copper, 20% nickel and 20% zinc. It is

named german silver due to its silvery

appearance, but it does not contain silver.



Q.20 The SI unit for frequency is 

आववृत्त का एसआई मात्रक क्ट्या ह ै?

S.S.C. ऑनलाइन MTS (T-I) 27 अक्ट्टूबर, 2021 (I- पाली)

(a) Volt/वोल्ट

(b) ohm / ओम

(c) hertz/हट्ार् 

(d) joule / र्लू



• आववृत्त (frequency) का एस. आई. (S.I.) मात्रक

हट्ार् (Heartz) होता ह।ै कां पन करने वाली वस्तु द्वारा

एक कां पन / सेकां ड करने पर उसकी आववृत्त 1 हट्ार् के

बराबर होती ह।ै

• S.I. unit of frequency is Hertz. When a

vibrating object makes one vibration/

second, its frequency is equal to 1 Hz.



Q.21 Which of the following metals can easily be cut with a knife?

वनम्नवलवखत में से वकस धात ुको चाकू से आसानी से काटा र्ा सकता ह?ै

a) Sodium/सोवडयम

b) Manganese/मैंगनीर्

c) Zinc/र्स्ता

d) Tin/वटन



• विए गए सभी ववकल्पों में से सोवडयम एक नरम धातु है

और इसे चाकू से आसानी से काटा र्ा सकता ह।ै यह

एक अत्यवधक प्रवतवक्रयाशील धातु है र्ो चाांिी के सफेि

रांग की होती है ।

• Out of all the given options, Sodium is a

softer metal and can be easily cut with a

knife. It is a highly reactive metal that is

silvery white in color.



Q.22 What is the popular name of 'Ascorbic Acid? 

एस्कॉवबाक एवसड का लोकवप्रय नाम क्ट्या ह?ै

S.S.C. ऑनलाइन स्नातक स्तरीय (T-1) 10 र्नू, 2019 (II- पाली)

(a) Vitamin C / ववटावमन C

(b) Vitamin B12 / ववटावमन B12

(c) Vitamin K / ववटावमन K 

(d) Vitamin A / ववटावमन A



• स्कवी (Scurvy) ववटावमन 'C' के कमी के कारण

होती ह।ै ववटावमन 'C' खटे्ट फलों में अवधकतर पाया

र्ाता ह।ै इस बीमारी के मखु्य लिण मसडू़ो में सरू्न,

िाांत वगरना व रोगी का चेहरा पीला पड़ना ह।ै ववटावमन

'C' का रासायवनक नाम एस्कावबाक अम्ल ह।ै

• Scurvy is caused due to deficiency of

Vitamin C'. Vitamin 'C' is mostly found in

citrus fruits. The main symptoms of this

disease are swelling in the gums, loss of

teeth and yellowing of the face of the

patient. The chemical name of vitamin 'C'

is ascorbic acid.



Q.23 Name the gland that controls the functioning of other endocrine glands.

उस ग्रांवि का नाम क्ट्या ह,ै र्ो अन्य अांतः स्त्रावी ग्रांवियों के कायों को वनयांवत्रत करती ह?ै

S.S.C. ऑनलाइन स्नातक स्तरीय (1-1) 4 र्नू, 2019 (II- पाली)

(a) Adrenal Gland/एड्रीनल ग्रांवि 

(b) Pancreas / अग्न्याशय

(c) Rincal Gland/ररवनयल ग्रांवि 

(d) Pituitary Gland/वपट्यटूरी ग्रांवि



• वपट्यटूरी ग्रांवि मवस्तष्क के आधार भाग में वस्ित एक

छोटी-सी ग्रांवि ह,ै र्ो अन्य अांतःस्त्रावी ग्रांवियों को

वनयांवत्रत करती ह।ै इसवलए इसे मास्टर ग्रांवि भी कहते हैं ।

• The pituitary system is a small gland located

at the base of the brain, which controls other

endocrine glands. That's why it is also called

the master gland.



Q.24 Which of the following parts of the body/glands maintains the body  temperature?

वनम्न में से कौन-सा शरीर का अांग/ग्रांवि शरीर के तापमान के वनयमन के वलए उत्तरिायी ह?ै

(a) Hypothalamus/हाइपोिैलेमस

(b) Adrenal/ एवड्रनल

(c) Thyroid/िायरॉइड

(d) Pituitary/वपट्यटूरी



• हाइपोिैलेमस मनुष्य के शरीर में मवष्तष्क में

एक ग्रांवि ह,ै र्ो शरीर में हॉमोन तांत्र को

वनयांवत्रत करती है । हाइपोिैलमेस शरीर के

अलग-अलग कायों को वनयांवत्रत करती ह,ै र्सैे

शारीररक ताप, भखू, ्यास आवि ।

• Hypothalamus is a gland in the brain

in the human body, which controls

the hormonal system in the body. The

hypothalamus controls various

functions of the body, such as body

temperature, hunger, thirst, etc.



Q.25  LPG is a mixture of__________.

एलपीर्ी _______का वमश्रण है ।

(a) Methane and Butane / मीिेन और ब्यटेून

(b) Butane and Propane/ ब्यटेून और प्रोपेन 

(c) Methane and Propane / मीिेन और प्रोपेन

(d) Ethane and Propane/ इिेन और प्रोपेन



• घरों में खाना पकाने के वलए प्रयिु तरल पेरोवलयम गसै

(LPG) काबावनक गसैों मखु्यतः प्रोपेन एवां ब्यटेून का

वमश्रण होती ह।ै एलपीर्ी का परूा नाम वलक्ट्वीफाइड

पेरोवलयम गसै (Liquified Petroleum Gas: LPG) ह।ै

एलपीर्ी के ररसाव की पहचान के वलए उसमें कुछ गांधयुि

पिािा र्सैे मरके्टन आवि वमला विया र्ाता ह।ै

• Liquefied petroleum gas (LPG) used for

cooking in homes is a mixture of organic gases

mainly propane and butane. The full name of

LPG is Liquefied Petroleum Gas (LPG). To

detect the leakage of LPG, some odorous

substance like mercaptan etc. is added to it.



Q.26 Which of the following is the primary component of quartz?

क्ट्वाट्ार् का प्रािवमक घटक वनम्नवलवखत में से कौन-सा ह?ै

S.S.C. ऑनलाइन M.T.S. (T-I) 14 अक्ट्टूबर, 2021 (III पाली)

(a) Zinc / वर्ांक

(b) Aluminium / एल्यमुीवनयम

(c) Silica/वसवलका

(d) Iron / आयरन



• क्ट्वाट्ार् (Quartz) पथृ्वी पर व्यापक रूप से पाया र्ाने

वाला खवनर् (Mineral) ह,ै वर्सका मखु्य घटक

वसवलकॉन डाइऑक्ट्साइड (SiO2) होता ह।ै क्ट्वाट्ार् की

उवचत रूप से कटी हुई ्लेटों का उपयोग, रेवडयो,

टेलीववर्न और अन्य इलेक्ट्रॉवनक सांचार उपकरणों में

आववृत्त वनयांत्रण (Frequency Control) हतेु और

वक्रस्टल वनयांवत्रत घवड़यों में वकया र्ाता ह।ै

• Quartz is a widely found mineral on Earth, the

main component of which is silicon dioxide

(SiO2). Properly cut plates of quartz are used

for frequency control in radio, television and

other electronic communication equipment,

and in crystal-controlled clocks.


